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SECTION A – Multiple-choice questions

Question 1


Let .
The period and range of f are respectively

A. 

B. 

C. 

D. 

E. 



Question 2

Part of the graph of a polynomial function is shown below.[image: ]

















A possible rule for this function is

A. 

B. 

C. 

D. 

E. 



Question 3



Given that  is a factor of , then k is equal to

A.	– 4
B.	– 2
C.	– 1
D.	   2
E.	   4


Question 4


The graph of the function f  has adjacent asymptotes at .
A possible rule for f is
A. 

B. 

C. 

D. 

E. 



Question 5


Let , where a is a positive real number.

The average rate of change of f between  is

A. 

B. 

C. 

D. 

E. 



Question 6


The equation , where p is a constant, has two real solutions for

A. 

B. 

C. 

D. 

E. 



Question 7

Let .


The gradient of the tangent to the graph of f at the point where , is .
The value of a is equal to
A. 
 only
B. – 1 only
C.    3 only
D. – 4 or – 1
E. – 1 or 3


Question 8


The simultaneous linear equations  have no solutions for

A. 

B. 

C. 

D. 

E. 




Question 9


Part of the graph of  is shown below.
[image: ]




















The shaded rectangle shown has corner points located at the origin, ,  and .
The maximum area of the rectangle is closest to

A.	0.2329
B.	0.3975
C.	0.4372
D.	0.5326
E.	0.5628


Question 10


The random variable X has a binomial distribution where .

 is equal to


A.	

B.	

C.	

D.	

E.	



Question 11


Let .
If y is a real number, then which one of the following equations is not true?

A. 

B. 

C. 

D. 

E. 


Question 12



The transformation  maps the graph of  onto the graph of .
The rule for T is given by

A. 

B. 

C. 

D. 

E. 


Question 13



The function with rule  has a maximal domain and .

The graph of f is, in order, dilated by a factor of 2 from the x-axis, dilated by a factor of a from the y-axis, translated 1 unit downwards and translated  units left.
One of the x-intercepts of the transformed graph is located at

A. 

B. 

C. 

D. 

E. 



Question 14


Let , where a is a positive constant.

The graph of f and its inverse , intersect at their right endpoints.
The value of a is

A. 

B.  1
C.  2
D.  4
E.  6


Question 15

Ella takes a bus to get to school.  The probability that she misses the early bus to school is 0.1.  Whether she misses the early bus to school one day is independent of whether she misses it on another day.
Given that over the last thirty occasions Ella attended school she missed the early bus less than five times, then the probability that she missed it exactly twice is equal to

A.	0.2267
B.	0.2456
C.	0.2761
D.	0.2939
E.	0.8245


Question 16


The function f is a cubic function.  The graph of the derivative function  has x-intercepts at 

 and has a maximum value of 4.
The graph of f  has a local minimum at


A.	

B.	

C.	

D.	

E.	



Question 17


Let f be a function with an average value of 1 over the interval . The graph of f over this interval could be

[image: ]









































Question 18



The area under the graph of , between , is 10 units. 


Given that , the area under the graph of , is

A. 
34 
B. 
38 
C. 
40 
D. 
42 
E. 
46 


Question 19


The function  is a differentiable function.


The derivative of  with respect to x is equal to

A. 

B. 

C. 

D. 

E. 



Question 20


Let .

Consider the inequality 
If this inequality is true, then

A. 

B. 

C. 

D. 

E. 




SECTION B

Answer all questions in this section.

Question 1 (10 marks)


Let .

a. Find the coordinates of the stationary point of the graph of f.	2 marks








b. Find the values of x for which f is strictly decreasing.	1 mark






c. 

The average value of  f between  can be expressed in the form  where a, b and c are positive integers. Find a, b and c.	2 marks











d. 

Let the function t represent the tangent line to the graph of f at the point where .

i. Find the rule for t.	1 mark






ii. 
Find the values of x for which , expressing interval endpoints correct to four decimal places.	1 mark








e. 
Find the values of  has exactly one positive solution.	1 mark






f. 
Find the values of  has two solutions.	2 marks








Question 2 (12 marks)

An airline logo is based around a particular shape.
The lower and upper boundaries of this shape are modelled respectively by the functions




The side boundaries of the shape are vertical lines.
The upper and lower boundaries touch at point P.
The shape is indicated by the shaded region in the diagram below. All measurements are in centimetres.[image: ]




















a. State the period of function l.	1 mark






b. Find the coordinates of point P.	1 mark







c. 
A transformation that maps the graph of  is given by


	                                              

	Find the values of a, b, c and d.	2 marks










Let D be the vertical distance between the upper and lower boundaries of the shape.


d. Show that the minimum value of D occurs at P.	2 marks








e. Find the maximum value of D and the value(s) of x for which this occurs.	2 marks










f. Find the area of the airline logo in square centimetres.	2 marks










g.           Given that , find the value of the constant m and of the 
             constant k.	2 marks










Question 3 (14 marks)

A miniature train runs along a horizontal track in a children’s park.
The track is modelled by the function 




where x is the distance east, in metres, from the origin at O and y is the distance north, in metres, from O as shown on the graph below.
[image: ]




















The train starts at point  and finishes at point .

That part of the x-axis for which  represents a footpath.


a. Find the length, in metres, of the footpath, correct to two decimal places.	2 marks






b. Find the furthest distance north of the footpath that the track goes and the value(s) of x for which this occurs.	2 marks










c. The original plan for the laying of the track involved laying it in the same shape but five metres to the east of the present track.
For this original plan,	

i. state a rule, in terms of x, that would model the position of the track.	1 mark






ii. state a domain for the rule found in part i., with endpoint values correct to one decimal place.	1 mark




In order to run a second miniature train on the track, a straight shunting track is built.

It starts at the origin and meets the existing curved track at the point .
It is indicated by the dotted line on the graph below.

[image: ]


















Regardless of whether a train approaches point C from the origin along the shunting track or from point A along the existing curved track, it would be heading in exactly the same direction at point C. That is, there is a smooth join where the shunting track meets the existing curved track.

d. Write down an expression for q in terms of p.	1 mark





e. 
Find .	1 mark



f. Find the length of the shunting track correct to two decimal places.	3 marks




















g. 
Find the angle that the tangent to the graph of f at the point , makes with the positive branch of the x-axis correct to the nearest degree.	1 mark






h. Find the area, in square metres, enclosed by the shunting track, the existing curved track and the x-axis correct to four decimal places.	2 marks










Question 4 (11 marks)

Bhavani exercises by using a particular workout written by a trainer at her gym.
The time T, in minutes, that Bhavani takes to complete her workout is normally distributed with a mean of 30 minutes and a standard deviation of 2 minutes.


a. Find the probability that Bhavani takes less than 25 minutes to complete her workout, correct to four decimal places.	1 mark






b. Find the probability that Bhavani takes less than 25 minutes to complete her workout given that she takes less than 30 minutes, correct to four decimal places.	2 marks








Bhavani completes five workouts each week.


c. What is the probability that less than two of the five workouts are completed in less than 25 minutes, correct to four decimal places?	2 marks










Bhavani continues to complete five workouts each week.
Her trainer wants to monitor the time that her workouts are taking.  He wants to know the time, m minutes, that Bhavani takes to complete a workout, so that the probability that she completes one or two workouts a week in less than m minutes is maximized.
Let W represent the probability that Bhavani completes one or two of her five weekly workouts in less than m minutes.


d. 

Given that , show that .	2 marks










	
e. Find the maximum value of W and the value of p for which this occurs, each correct to four decimal places.	2 marks







	
f. Find the value of m for which the maximum value of W occurs, correct to two decimal places.		2 marks

















Question 5 (13 marks)


Part of the graph of  is shown below.
[image: ]
















[bookmark: _GoBack]Let , where a is the least possible value such that , the inverse of f , exists.


a.          Find the value of a.	1 mark





b.          Find the rule and domain of .	2 marks











c.          Find the area, in square units, bounded by the graphs of f ,  and the x and y axes, correct  
              to four decimal places.	2 marks












The graph of f is

· dilated by a factor of 3 from the x-axis
· 
dilated by a factor of  from the y-axis
· reflected in the y-axis

to become the graph of h.



d.         i.	Show that the rule for h is given by .	1 mark












ii.          Find the domain of h.	1 mark













e.           On the set of axes below, sketch the graphs of h and its inverse function .
              Indicate clearly the coordinates of any endpoints and the equation of any asymptotes.	2 marks
[image: ]























f.          Using the fact that , find the rule for .	2 marks













g.          Given that , find the possible values of k.	2 marks














Mathematical Methods formulas
Mensuration
	area of a trapezium
	

	volume of a pyramid
	


	curved surface area of a cylinder
	

	volume of a sphere
	


	volume of a cylinder
	

	area of a triangle
	


	volume of a cone
	

	


Calculus
	

	


	

	


	

	


	

	


	

	


	

	


	

	

	product rule
	

	quotient rule
	


	chain rule
	

	



Mathematics Formula Sheets reproduced by permission; © VCAA 2019. The VCAA does not endorse or make any warranties regarding this study resource. Past VCAA VCE® exams and related content can be accessed directly at www.vcaa.vic.edu.au


Probability

	

	


	

	






	Probability distribution
	Mean
	Variance

	Bernoulli
	

	

	


	binomial
	

	

	


	normal
	

	

	

















END OF FORMULA SHEET




[image: ]

















©THE HEFFERNAN GROUP 2020                                              Maths Methods 3 & 4 Trial Exam 2
image180.wmf
P.O. Box 1180

Surrey Hills North  VIC  3127

Phone 03 9836 5021

info@theheffernangroup.com.au

www.theheffernangroup.com.au

THE

GROUP

HEFFERNAN


image460.wmf
x

O

y

(

)

y

f

x

=

(

)

,

(

)

x

f

x


image47.wmf
(,0)

x


oleObject44.bin

image48.wmf
(

)

,()

xfx


oleObject45.bin

image49.wmf
(0,())

fx


oleObject46.bin

image50.wmf
9

E()3 and Var()

4

XX

==


oleObject47.bin

image51.wmf
Pr(2)

X

=


image2.wmf
4

:,()2cos1

3

x

fRRfx

p

æö

®=-

ç÷

èø


oleObject48.bin

image52.wmf
12

1

4

æö

ç÷

èø


oleObject49.bin

image53.wmf
12

3

4

æö

ç÷

èø


oleObject50.bin

image54.wmf
9

33

164

æö

´

ç÷

èø


oleObject51.bin

image55.wmf
10

11

644

æö

´

ç÷

èø


oleObject52.bin

image56.wmf
10

333

84

æö

´

ç÷

èø


oleObject1.bin

oleObject53.bin

image57.wmf
:,()

x

fRRfxe

®=


oleObject54.bin

image58.wmf
  

f

(

y

)

=

f

(

x

)

f

(

y

-

x

)


oleObject55.bin

image59.wmf
  

f

(

xy

)

=

(

f

(

x

))

y


oleObject56.bin

image60.wmf
  

(

f

(

xy

))

2

=

f

(

2

xy

)


oleObject57.bin

image61.wmf
  

f

(

x

2

y

)

=

f

(

y

)

(

f

(

x

))

2


image3.wmf
3

 and [3,1]

2

-


oleObject58.bin

image62.wmf
  

f

(

y

)

=

f

(

x

+

y

)

f

(

x

)


oleObject59.bin

image63.wmf
  

T

:

R

2

®

R

2


oleObject60.bin

image64.wmf
  

y

=

-

1

3

x

-

1

-

2


oleObject61.bin

image65.wmf
  

y

=

1

x


oleObject62.bin

image66.wmf
1

1

0

3

2

01

xx

T

yy

éù

æö

-

-

éùéùéù

êú

=+

ç÷

êúêúêú

ç÷

êú

ëûëûëû

èø

êú

ëû


oleObject2.bin

oleObject63.bin

image67.wmf
301

012

xx

T

yy

æö

-

éùéùéùéù

=+

ç÷

êúêúêúêú

ç÷

--

ëûëûëûëû

èø


oleObject64.bin

image68.wmf
1

1

0

3

2

01

xx

T

yy

éù

æö

-

éùéùéù

êú

=+

ç÷

êúêúêú

ç÷

êú

-

ëûëûëû

èø

-

êú

ëû


oleObject65.bin

image69.wmf
301

012

xx

T

yy

æö

éùéùéùéù

=+

ç÷

êúêúêúêú

ç÷

--

ëûëûëûëû

èø


oleObject66.bin

image70.wmf
1

1

0

3

2

01

xx

T

yy

éù

æö

éùéùéù

êú

=+

ç÷

êúêúêú

ç÷

êú

ëûëûëû

èø

-

êú

ëû


oleObject67.bin

image71.wmf
  

f

(

x

)

=

1

2

sin

(

ax

)


image4.wmf
3

 and [2,2]

2

-


oleObject68.bin

image72.wmf
{

}

\0

aR

Î


oleObject69.bin

image73.wmf
  

p

2


oleObject70.bin

image74.wmf
  

x

=

-

5

p


oleObject71.bin

image75.wmf
  

x

=

-

4

p


oleObject72.bin

image76.wmf
  

x

=

p

6


oleObject3.bin

oleObject73.bin

image77.wmf
  

x

=

p

2


oleObject74.bin

image78.wmf
  

x

=

5

p


oleObject75.bin

image79.wmf
2

:[0,],()22

x

faRfx

®=-


oleObject76.bin

image80.wmf
  

f

-

1


oleObject77.bin

image81.wmf
  

1

2


image5.wmf
  

3

p

2

 and 

[

-

2

,

2

]


oleObject78.bin

image82.wmf
'

f


oleObject79.bin

image83.wmf
1 and 6

xx

=-=


oleObject80.bin

image84.wmf
6

x

=-


oleObject81.bin

image85.wmf
1 

x

=-


oleObject82.bin

image86.wmf
2.5

x

=


oleObject4.bin

oleObject83.bin

image87.wmf
1

x

=


oleObject84.bin

image88.wmf
6

x

=


oleObject85.bin

image89.wmf
  

[

-

3

,

3

]


oleObject86.bin

image90.wmf
x

x

x

x

x

-3

-3

-3

-3

-3

-3

-3

-3

-3

-3

-2

-2

-2

-2

-2

-1

-1

-1

-1

-1

1

1

1

1

1

2

2

2

2

3

3

3

3

3

-2

-2

-2

-2

-2

-1

-1

-1

-1

-1

O

O

O

O

O

1

1

1

1

1

2

2

2

2

2

2

3

3

3

3

3

y

y

y

y

y

E.

C.

D.

A.

B.


image900.wmf
x

x

x

x

x

-3

-3

-3

-3

-3

-3

-3

-3

-3

-3

-2

-2

-2

-2

-2

-1

-1

-1

-1

-1

1

1

1

1

1

2

2

2

2

3

3

3

3

3

-2

-2

-2

-2

-2

-1

-1

-1

-1

-1

O

O

O

O

O

1

1

1

1

1

2

2

2

2

2

2

3

3

3

3

3

y

y

y

y

y

E.

C.

D.

A.

B.


image91.wmf
  

y

=

h

(

x

)


image6.wmf
3

 and [3,1]

2

p

-


oleObject87.bin

image92.wmf
2 and 1

xx

=-=


oleObject88.bin

image93.wmf
()3 for [2,1]

hxx

>Î-


oleObject89.bin

image94.wmf
4()2 for [2,1]

yhxx

=-Î-


oleObject90.bin

image95.wmf
2

units


oleObject91.bin

oleObject92.bin

oleObject5.bin

oleObject93.bin

oleObject94.bin

oleObject95.bin

image96.wmf
  

f

:

R

®

R


oleObject96.bin

image97.wmf
(log())

e

fax


oleObject97.bin

image98.wmf
, where 0,

ax

>


oleObject98.bin

image99.wmf
1

'()

fx

a


image7.wmf
2 and [3,2]

p--


oleObject99.bin

image100.wmf
1

'()

fx

x


oleObject100.bin

image101.wmf
'(log())

e

fax


oleObject101.bin

image102.wmf
1

'(log())

e

fax

a


oleObject102.bin

image103.wmf
1

'(log())

e

fax

x


oleObject103.bin

image104.wmf
:,()

x

fRRfxe

®=


oleObject6.bin

oleObject104.bin

image105.wmf
0

(())0,   where   ,.

a

kfxdxakR

->Î

ò


oleObject105.bin

image106.wmf
  

a

>

0

 and 

k

>

0


oleObject106.bin

image107.wmf
  

a

>

0

 and 

k

<

1


oleObject107.bin

image108.wmf
0 and 0

ak

=<


oleObject108.bin

image109.wmf
0 and 1

ak

<<


image8.wmf
x

O

-3

-2

-1

1

2

3

4

5

7

6

y


oleObject109.bin

image110.wmf
0 and 1

ak

<>


oleObject110.bin

image111.wmf
  

f

:

R

®

R

,

f

(

x

)

=

5

xe

-

x


oleObject111.bin

image112.wmf
  

x

=

0

 and 

x

=

5


oleObject112.bin

image113.wmf
  

a

-

b

e

c


oleObject113.bin

image114.wmf
  

x

=

4


image810.wmf
x

O

-3

-2

-1

1

2

3

4

5

7

6

y


oleObject114.bin

image115.wmf
  

t

(

x

)

>

f

(

x

)


oleObject115.bin

image116.wmf
 for which ()0

dRfxd

Î+=


oleObject116.bin

image117.wmf
 for which ()0

hRfxh

Î-=


oleObject117.bin

image118.wmf
:[0,4],()2sin

3

(2)

and :[0,4],()2sin23

3

x

lRlx

x

uRux

p

æö

®=

ç÷

èø

p+

æö

®=+

ç÷

èø


oleObject118.bin

image119.wmf
x

y

O

P

(

)

=

y

u

x

(

)

=

y

l

x


image9.wmf
  

y

=

(

x

+

2

)

(

x

-

2

)

2

(

x

-

6

)


image1190.wmf
x

y

O

P

(

)

=

y

u

x

(

)

=

y

l

x


image120.wmf
  

y

=

l

(

x

)

 to 

y

=

u

(

x

)


oleObject119.bin

image121.wmf
0

0

xaxc

T

ybyd

æö

éùéùéùéù

=+

ç÷

êúêúêúêú

ç÷

ëûëûëûëû

èø


oleObject120.bin

image122.wmf
3

4

2

0

()(())

m

uxdxklxdx

=-

òò


oleObject121.bin

image123.wmf
22

1

:[,],()(5)(20)25.16

200

fabRfxxx

-

®=--+


oleObject122.bin

image124.wmf
x

miniature train 

      track

footpath

y

O

Aa,

(0)

Bb,

(0)

5

5

10

15

20

10

15

20

25

(

)

=

y

f

x


oleObject7.bin

image1240.wmf
x

miniature train 

      track

footpath

y

O

Aa,

(0)

Bb,

(0)

5

5

10

15

20

10

15

20

25

(

)

=

y

f

x


image125.wmf
(,0)

Aa


oleObject123.bin

image126.wmf
(,0)

Bb


oleObject124.bin

image127.wmf
[,]

xab

Î


oleObject125.bin

image128.wmf
(,),05

Cpqp

<<


oleObject126.bin

image129.wmf
x

miniature train 

      track

shunting track

footpath

y

O

Aa,

(0)

Bb,

(0)

5

5

10

15

20

10

15

20

25

(

)

=

y

f

x


image10.wmf
  

y

=

(

x

-

2

)

(

x

+

2

)

2

(

x

+

6

)


image1290.wmf
x

miniature train 

      track

shunting track

footpath

y

O

Aa,

(0)

Bb,

(0)

5

5

10

15

20

10

15

20

25

(

)

=

y

f

x


image130.wmf
'()

fp


oleObject127.bin

image131.wmf
(,)

Cpq


oleObject128.bin

image132.wmf
Pr()

Tmp

<=


oleObject129.bin

image133.wmf
3

5(1)(1)

Wppp

=-+


oleObject130.bin

image134.wmf
  

y

=

1

x

2

+

1


oleObject8.bin

oleObject131.bin

image135.wmf
x

y

O

2

1

1

=

+

y

x


image1350.wmf
x

y

O

2

1

1

=

+

y

x


image136.wmf
2

1

:[,),()

1

faRfx

x

¥®=

+


oleObject132.bin

image137.wmf
  

f

-

1


oleObject133.bin

oleObject134.bin

oleObject135.bin

image138.wmf
  

1

2


image11.wmf
  

y

=

(

x

+

2

)

(

x

-

2

)

2

(

6

-

x

)


oleObject136.bin

image139.wmf
2

3

()

41

hx

x

=

+


oleObject137.bin

image140.wmf
1

h

-


oleObject138.bin

image141.wmf
x

y

4

3

2

1

O

-1

-2

-3

-4

-

4

-

3

-

2

-

1

1

2

3

4


image1410.wmf
x

y

4

3

2

1

O

-1

-2

-3

-4

-

4

-

3

-

2

-

1

1

2

3

4


image142.wmf
1

(())

hhxx

-

=


oleObject139.bin

oleObject140.bin

oleObject9.bin

image143.wmf
03

11

1

()()()

k

hxdxhxdxkhk

--

-

³--´

òò


oleObject141.bin

image144.wmf
h

b

a

)

(

2

1

+


oleObject142.bin

image145.wmf
Ah

3

1


oleObject143.bin

image146.wmf
rh

p

2


oleObject144.bin

image147.wmf
3

3

4

r

p


oleObject145.bin

image12.wmf
2

(2)(2)(6)

yxxx

=+-+


image148.wmf
h

r

2

p


oleObject146.bin

image149.wmf
)

sin(

2

1

A

bc


oleObject147.bin

image150.wmf
h

r

2

3

1

p


oleObject148.bin

image151.wmf
(

)

1

-

=

n

n

nx

x

dx

d


oleObject149.bin

image152.wmf
ò

-

¹

+

+

=

+

1

,

1

1

1

n

c

x

n

dx

x

n

n


oleObject150.bin

oleObject10.bin

image153.wmf
(

)

1

)

(

)

(

-

+

=

+

n

n

b

ax

an

b

ax

dx

d


oleObject151.bin

image154.wmf
1

,

)

(

)

1

(

1

)

(

1

-

¹

+

+

+

=

+

+

ò

n

c

b

ax

n

a

dx

b

ax

n

n


oleObject152.bin

image155.wmf
(

)

ax

ax

ae

e

dx

d

=


oleObject153.bin

image156.wmf
c

e

a

dx

e

ax

ax

+

=

ò

1


oleObject154.bin

image157.wmf
(

)

x

x

dx

d

e

1

)

(

log

=


oleObject155.bin

image13.wmf
  

y

=

-

(

x

+

2

)

(

x

-

2

)

2

(

6

-

x

)


image158.wmf
0

,

)

(

log

1

>

+

=

ò

x

c

x

dx

x

e


oleObject156.bin

image159.wmf
(

)

)

cos(

)

sin(

ax

a

ax

dx

d

=


oleObject157.bin

image160.wmf
c

ax

a

dx

ax

+

-

=

ò

)

cos(

1

)

sin(


oleObject158.bin

image161.wmf
(

)

)

sin(

)

cos(

ax

a

ax

dx

d

-

=


oleObject159.bin

image162.wmf
c

ax

a

dx

ax

+

=

ò

)

sin(

1

)

(

cos


oleObject160.bin

oleObject11.bin

image163.wmf
(

)

)

(

sec

)

(

cos

)

tan(

2

2

ax

a

ax

a

ax

dx

d

=

=


oleObject161.bin

image164.wmf
dx

du

v

dx

dv

u

uv

dx

d

+

=

)

(


oleObject162.bin

image165.wmf
2

v

dx

dv

u

dx

du

v

v

u

dx

d

-

=

÷

ø

ö

ç

è

æ


oleObject163.bin

image166.wmf
dx

du

du

dy

dx

dy

=


oleObject164.bin

image167.wmf
Pr()1Pr(')

AA

=-


oleObject165.bin

image14.wmf
xk

+


image168.wmf
)

Pr(

)

Pr(

)

Pr(

)

Pr(

B

A

B

A

B

A

Ç

-

+

=

È


oleObject166.bin

image169.wmf
)

Pr(

)

Pr(

)

|

Pr(

B

B

A

B

A

Ç

=


oleObject167.bin

image170.wmf
1

P()

10

px

Xx

px

=

ì

==

í

-=

î


oleObject168.bin

image171.wmf
p

=

m


oleObject169.bin

image172.wmf
2

(1)

pp

s=-


oleObject170.bin

oleObject12.bin

image173.wmf
P()(1)

xnx

n

Xxpp

x

-

æö

==-

ç÷

èø


oleObject171.bin

image174.wmf
np

=

m


oleObject172.bin

image175.wmf
2

(1)

npp

s=-


oleObject173.bin

image176.wmf
2

1

2

1

Pr()

2

x

a

Xaedx

-

æö

-

ç÷

èø

-¥

£=

sp

ò

m

s


oleObject174.bin

image177.wmf
m


oleObject175.bin

image15.wmf
{

}

4322

342, where \0

xxkxkR

+-Î


image178.wmf
2

s


oleObject176.bin

image179.wmf
MATHEMATICAL METHODS

TRIAL EXAMINATION 2

INSTRUCTIONS

Fill in the letter that corresponds to your choice.  Example:
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